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APPENDIX D.
Example 2, Paragbaph 8.

Gtratuity Scale.
Six months' hard-labour sentence.—First quarter, probation class, 45 days, nil; second quarter'
third class, 45 days at 8 marks, equal to 360 marks at Id. per 20 marks, equal to Is. 6d. ; third quarter;
second class, 45 days at 8 marks, equal to 360 marks at ljd. per 20 marks, equal to 2s. 3d.; fourth
quarter, first class, 47 days at 8 marks, equal to 376 marks at 2§d.per 20 marks, equal to 3s. lid.: total
gratuity, six months' sentence, 7s. Bd.

Twelve months' hard-labour sentence.—First quarter, probation class, 91 days, nil.; second quarter,
third class, 91 days at 8 marks, equal to 728 marks at Id. per 20 marks, equal to 35.; third quarter,
second class, 91 daysat 8 marks, equal to 728 murks at lid. per 20 marks, equalto 4s. 6d.; fourth quarter,
first class, 92 days at 8 marks,equal to 736 marks at 2|d.per 20 marks,equal to 7s. Bd.: total gratuity,
twelve months' sentence, 15s. 2d.

Eighteenmonths' hard-labour sentence.—First quarter, probation class, 137 days, nil; second
quarter, third class, 137 days at 8 marks, equal to 1,096marks atId.per 20 marks, equal to 4s. 7d.; third
quarter, second class, 137 days at 8 marks, equalto 1,096 marks at If d.per 20 marks, equal to 6s. lOd.;
fourth quarter, first class, 136 days at 8 marks, equal to 1,088 marks at 2|d. per 20 marks, equal to
lls. 3d.: total gratuity, eighteen months' sentence, £1 2s. Bd.

Two years' hard-labour sentence.—First quarter, probation class, 182 days, nil; second quarter,
third class, 182 days at 8 marks, equal to 1,456 marks at Id. per 20 marks, equal to 6s. Id.; thirdquarter,
second class, 182 days at 8 marks, equal to 1,456 marks at ljd. per 20 marks, equal to 9s. Id. ; fourth
quarter, first class, 184 days at 8 marks, equal to 1,472 marks at 2Jd. per 20 marks, equal to 15s. 4d.:
total gratuity, two years' sentence, £1 10s. 6d.
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